BIC

5x10°

log[ Relative Probability ]

—400

Window Half—Width (km/s)

2x108

108

2x10°

5

10

—200

1000 10*

100

rm215 2/(41076:’) 5071) 0. 903
- T T T T I T T T T I T T
' ' BIC! 431883 22 ABIC 0.000 AIogP 0. OOOO
i : : x 366336.62 Ax 0.000 AlogP 0.0000 1
. : Z ]
: ___________ -9 —. _—'— o e —————— ’_1'3___—___—___—_ _f__—___—__ﬁ__—_,: BIC
. o )
L "ABIC —219011; 908.0 ( 1098 ( ] X
I : sz —219011" —255.3 —505.1 |
4857 4857 : 4947 , 5071
A ACs ACSF ; AC<B4F
L L ! L | ! L L L | L ! L L | L L L L
50 100 150
196 iterations
rm215 2/(410763 ~5071)=0.903
: : . : , . : : : , : :
BIC! 431883 22 ABIC 0.000 AIogP 0. OOOO
........................ )62 366336.62 Ay> 0.000 AlogP .0.0000 |
4947 5071
U ACF ACBsF |
\ \ 1 \ A P ) ) o
100 150
196 iterations
Fe2 3% 100+243 km/s
rm215 BLR 14760 NLR 900 km/s
i T T T T T T T T T T T T T T T T
;_u______.______'_____________________‘______BLR
S L P S S S PSPPSR N N
i S
_ . frf"~‘“"“&-H__h; Fel
- - 4857 4857 ﬂ—@ﬂ B5071- - -7 1€
oA ) ACq ACSF ACSB4F :
L ) ) ) ) | ) ) ) ) | ) ) ) ) | ) ) ) L]
50 100 150

196 iterations

kdh1 8-0ct-2021 15:56



